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PHYSICS
(Skill Enhancement Course )

Answer the Questions from any one Option.

.~ OPTION-A
Paper : PHY-SE-3014
(Physics Workshop Skills) -

OPTION -B
Paper : PHY-SE-3024
( Computational Physics Skills)

‘ OPTION-C
Paper : PHY-SE-3044
( Digital Photography and Editing)

OPTION-D
Paper : PHY-SE-3064
( Weather Forcasting )

OPTION-E
Paper : PHY-SE-3074
(Applied Optics)
OPTION - F

Paper : PHY-SE-3094
( PageMaker )

Full Marks : 50
Time : Two hours
The figures in the margin indicate
Jull marks for the questions.
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OPTION - A
Paper : PHY-SE-3014
( Physics Workéhop Skills )

Answer either in English or in Assamese.

Answer the following objective-type
questions : (any four) =g

OO SIS I8 Ted Tl ¢ (R Bifen))

(a) What is the difference between basic/
fundamental and derived unit ?

e oI% o5 G99 Aiere ANidky {52

(b) Write down the S.I. unit of température._

T b W2 GO el |

(¢) What is the least count of a common
meter scale ?

AR (O (Fe GOUER FFw (S B

(d) What do you mean by pitch of a screw
gauge ?

% 715 B vy 3FE e

(e) Mild steel is a primary alloy of
and ; ~ (Fill in the blanks)

EEERGIR B < T A 41D |
(=TT 912 799 )
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fl In Wthh work a ‘file’ is used in.a
mechanical workshop ?

A T Gore wesr K w S
0

(g) Power generation system in an
automobile converts into work.

(Fil in the blank)

o AIZTe $fe e smfoc T
IR TR TR (05 I 799 59)

(h) What is the ‘colour code’ of g
' resistance ?

mwaﬁaW¢@’m%q@?

Answer the following questions in very short :

(any three) 2x3=6
O TP T YOI G Rl 5 (R foriny)

(@) In a slide caliper twenty (20) divisions
of the Vernier scale coincide with the
ninteen (19) divisions of the main scale.
If one smallest division of main scale
equals to one mm (1mm), find out the
Vernier constant of the instrument.
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(b)

(c)

(d)

ol WiET (SRR SR (FE9 200! il
& ((2W) CFSTR 5 55! ©I5i 5ol | 51 &7 (FeTs
7R I I ;W Imm W, (98 (FTOEE
ST 4359 T Tlened |

If 5km/h=xcm/s?, find the value of
x?

W 5km/h= x cm/ s>, x‘:?i T Terest |

Why is safety measure in a mechanical
workshop important ?

s T GHre TeFeEe I

aRgef

What is sheet metal ? Write down fwo
metals used in sheet metal work.

Ied #A1e 52 4igs «ire gt sl e IR
(21 707 Aga AN e |

Write down two important functions of

lubricating oil in machine operation.

TF @51 SeETe IRER (A ARG (oFE
ST AN (=1 75 P

What is multimeter ? Write dOWI’l the
difference between digital multimeter
and analog multimeter.

WiFofiDH Ry ReRse o <l FGRBR
Mere 212 foral |
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3. Answer any two. questions from the
following : o9x2=10

TS Tl frtcr g e T B

(@) Write down five common materials used
in manufacturing/mechanical workshop.

T FIRAS IR A A5 A T AN
forait |
(b) Write down step by step process to

measure volume of a solid block (say
cube) using a Vernier calliper.

CIRAR @FiR gom T9eE TR (5ND 3 (T<5)
GO SIS Tfereqiy orafoere Adr B

(¢ (i) What do you mean by soldering
and desoldering in an electronic

ci;cuit? - S
FERGEE TEN GBS GEE w1
NS T W F geie

(i) Write down at least one content of
soldering wire used during

soldering process. T
AR 1 SRS IR @[ [
- GbY 4eF I fer | .

(i) What is the full form of P.C.B. in
electrical circuit P ! 1
TET Ffiere a9 w1 PLBRE sy
IO 2
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(d) (i) Write down the difference between

(e)

regulated and unregulated power
supply. . 2

ﬁaﬁ—m@ﬁﬂﬁ—%ﬁww

2l A1l forall |

(i) Draw the block diagram of a
regulated power supply. 3
e Rye SR SR [ TF 90!
Jefbas REe aHH B |

o
2V/div

2uS/ div
Fig. 1

Display of a cathod ray oscilloscope
(CRO) screen for the measurement of a
signal is shown as above (Fig. 1). Find
(i) Time period, (i) Frequency, (iii) Peak
voltage, (iv) Peak-to-peak voltage,
and (v) r.m.s. value of the signal. 5
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R oae (el wx @UT @ e Rl
9BIF A9TS 9Bl ASRST e AUFS (AC
signal) 901 =W Czz| (i) AT,
(1) T, (zu} AR, (iv) TS o= TR
o9, @i (v) r.m.s. Feg Rdy =1

(f) () What is the utility of a gear systexﬁ

in automobile car ? 2
5 NAEA MG @iwe fPitay e
RO (LT 2

() Discuss two different types df
braking system used in an
automobile vehicle. i

W6 IR A 4GS IRIT (DA 75
@G @O g @R omey fEw
for2) |

(i) What is pulley ? 1.
Foie e :

4. Answer any three questions from. the

following : ' 10x3=30
waTe frt ees S| Riree fofEe Tes e g

(a) (i) What is a sextant ? Describe its

working principle. 5
05 2 T SRS 396 541
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(@

(b) ()

(i)

(iii)
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How can one calculate the height
of a building using sextant ? 5

@51 RfFees THS! (GFHHI TLAS (AT
stet SRR AR

Why is workshop technology
important ? 1
Tt ofeiml B ewesle
Write down short notes on each .of
the following processes In
mechanical workshop : 6
(a) Casting :

(b) Machining

(c) Forming ' ﬁ
p ek i RO ORI E RS S IRCEICREE]
oo R o o ¢

(a) R

(b) cBRR

(c) TahL

Write down three prime machine
tools used in mechanical
workshop. . 3 h
e T B IR (@R R
fofatr 1 Tefer A F |

(c)

(c)

()

(i)

(iii)

What is the basic difference
between soldermg, welding and
brazing ? 3

BRBIRE, SRS O (FfE-< Sere #{12f
&2 :

Discuss five different types of
joints observed in welding process.
S5

5o @S JR e WEnE B
i<l |

What do you understand by
welding defects ? 2

erfes from I S gue

Draw the symbols of the following discrete
electronic/electrical components :

(t)

(1)
(iii)
(v)

(v) .

vy
(vii)

Diode

Zener diode

Light emiting diode
Single electronic cell
Battary |
Inductor

Capacitor

(viii) Variable resistor

3 (Sem-3/CBCS) PHY SE/G 9
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1 iy : . (i) ‘With the help of block diagram °
(o) “HHE lre s sior explain different components of a

(x) NPN transistor ' cathod ray oscilloscope (CRO). 7
woTe il BERERT /AR GRS F Yefoaq TS Bl @A [F T RIAT
ooz foral ¢ fen wesmg 29 41 |
i TRT : (f) (i) What is the importance of switches
(i) (SN TREC W ‘in an electronic circuit ? 2
(i) (A" ol wiwe BlaRanbes ;‘@ﬁ"r 9oTe HIfF At §36F
i Al &2
(v) TS | ; : .\o ; |
() oI . (i) Draw an'd exp_lain transistor based
electronic switch. 8
(vi) SN
b (G&ET T T IETE S HRO6 G5
- foa =il == iyt <5 |
(viii) ARTETIE 4F i - + f
; (4 i) Draw the circuit diagram of a timer
() PNP (GAfered circuit (Astable multivibrator)
(x) NPN (Grfees using IC355. &)
(e) (i) What is cathod ray oscilloscope ? i3 555 W?Fﬁm (VI T
. ] (5059w MFTeIREDT) bl S a1 |
SR wai e : | (i) What is the duty eyele of an
(i) What is basic difference between astable multivibrator ? 52
mblinele o ooilecon: 5T TSR <O O e
NFGHEGR @B o SfbeT THA GBI ATTS e ‘

A Al e
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(i) In an astable multivibrator by

h (1)

(@

using JICS555 :the duty ecycle
determining resistor and capacitor

 are given by R, = 1kQ (resistance

between IC Pin Nos. 7 and 4)
Rp=10kQ (resistance between 7
and 2) and capacitor C=0.1uF
(capacitor between IC Pin Nos. 2

and 1). Calculate the output |

frequency of the multivibrator. 3

IC555 97N S AR Qg EIA
TEeiREsT IR e viacest R
R Ry = 1kQ (SN2 PR R 7 5= 4
3 WErs), Rg = 10kQ IR (Wi2H &4 7
% 2 T AEQ) WS K9 I C = 0.1uF
(S P 2 o 1 3 Sere) Tt =i |

(RIETRCOIT =i Befy a1
What is the use of a galvanometer
in an electrical circuit ? el

BEE AT IO oS cﬂamﬁﬁaﬁﬁ

&7 I92] 74 =W e

How is a galvanometer converted

to a voltmeter and an ammeter ?

4

(oIFCS N0 51, OBl ORGSR Bl
G (& T F9lITe =1 iR e
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(m}

(iv)

Explain with dlagram how a
voltmeter and an ammeter is.
connected across a resistance to
measure voltage drop and current
passing through the resistor. 4
@B (@ oS [Feg sien wig 21T
R @bl SOt =R 4fF 5 @bl
(PAC LA 1 =7 o i |

What is S.I. unit of current ?

qizg S.I. 933 52
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OPTION-B

Paper : PHY-SE-3024

( Computational Physics Skills)

I Answer any _four from the following :

(a)

(b)
(c)
(@)
(e)
0
(9)

(h)

2. Answer any three from the following :

(@)

(b)

1x4=4

What are the three different types of
Linux ?

Write the Linux code to save a file.
What does a character set mean ?
Define a flowchart.

What is the difference between a/b and
aleb "2 &

What is a compiler ?

Write the increment and decrement
operators.

How will you write x? in GNUPLOT ?

2x3=6

Write two characteristics of high level
language (HLL).

What are the fwo factors that determine
the efficiency of an algorithm ?

3 (Sem-3/CBCS) PHY SE/G 14

()

()

(e)

(@)

(b)

(c)

(cd)

()

()
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What are the three types of selectlon
statements ?

Write any two advantages of breéking
a program into a subroutine.

Draw a flowchart to find the area of a
circle.

Give the command to plot 2-D functions
and data in GNUPLOT.

3, Answer any two from the following :

5x2=10

Write a note on various LINUX text
editors. ; :

Write a note on variables and data
types.
Write an algorithm to convert Cartesian

co-ordinates to . spherlcal polar co- -
ordinates.

Describe the common types of boxes in
a flowchart.

What is an array in programming and
what are its characteristics ?

Explain GNUPLOT
scripting.

suitable for
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4. AnsWer any three from the following:

(@

(b

(c)

(d)

(e)

(9)

(h)

10x3=30

What are the functions of an operating
system ? What are different types of
operating system. Describe any one of
them. T 5+3+2=10

Write the algorithm and draw a
flowchart to find the roots of a quadratic
equation. : : 5+5=10

Write an algorithm and draw a

flowchart to plot trajectory of a
projectile thrown  at an
angle with the horizontal. 5+5=10

Explain with example what do you

‘mean by the terms, ‘Dimension’ and

‘Subscript’ in arrays. Also compare
arrays with linked lists. 5+5=10

Write in detail about the layout and
format of writing a program.

What are executable and non-
executable statements ? Explain with
example what initialization and.
replacement logic are. 4+6=10

What is Disk I[/O ? How to monitor its
utilization for Windows and Linux ?
4+6=10

Explain about GNUPLOT functionality.
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OPTION-C
Paper : PHY-SE-3044
( Digital Photography and Editing)

Choose the correct answer of the followmg
questions : (any four) 1x4=4

(A) If you are shooting a photo and want
to go a greater depth of field in the
image, you would shoot at

(@ F 2.8
(b) F 16
() F7.1
(d) F 4

(B) When shooting in manual mode which
of the following controls the exposure
of your computer ?

(a) Aperture
(b) Shutter speed
Q). 1S .
(d) All of the above
(C) Basic element of video editing is
(@) capture
(b) shot
(c) timeline
(d) All of the above
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(D)

(E)

(F)

(G)

(H)

Digital editing is known as
(a) linear editing

 (b) non-linear editing

(c) tape-to-tape editing
(d) None of the above

A tripod is an essential piece of
equipment for right photography.

(a) True

(b) False

Which artist is usually identified as one
of the inventors of photography ?

(a) Nicéphore Niépce
(b) Ansel Adams

(¢) John Herschel -
(d) Thomas Eakins

Resolution of an image describes

(@) the quality of the image

(b) the clarity of an image

(¢) the size of the image in pixels
(d) colour and contrast of the image

In which stage do you edit video ?
(a) Pre-production

(b) Production

(c) PoSt-production

(d) None of the above

3 (Sem-3/CBCS) PHY SE/G 18

2. Answer the following questions :

(any threej

(@)

(b)
(c)

().

e)
0

2x3=6
Why is exposure important in
photography ? '

What is white balance in photography ?

What are the types of exposure in
photography ?

How does shutter work, when shooting
videos Paxi

How does a camera tripod work ?

Why is manual focus important in
photography ?

3. Answer the following questions : (any4two)

(@)

(b)
(c)

(d)
()

(/)

4 (Sem~3/CBCS) PHY SE/G 19

5x2=10

Explain about digital camera. Which is
the best digital camera ?
Describe different types of light sources.

How does White'balar}ce affect an
image ?

How does digital video work ?

Write one disadvantage of using digital
zoom. How does digital zoom work on
a camera ?

What is white balance ? Explain.

Contd.




4. Answer any three of the following

. questions :

(@

(b)
()

(d)
(e)

(9)

(h)

10x3=30
Write short notes on :

(i) Digital camera

(i) DSLR

Describe various parts of dlgltal
videography.

Describe the_ control and features of
video camera.

Explain change couple device.

Write the difference between lens and
iris.
Explain digital noise.

Explain the function of shutter in digital
video camera.

Describe different methods for
abnormal event detection in video.
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OPTION - D
PHY-SE-3064
( Weather Forcasting)

Paper: :

Answer either in English or in Assamese.

|, Select the correct answer :

{any four)
1x4=4

wq TeCs! ik Seredl 5 (R sty

(@)

(b)
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Standard atmospheric pressure is called
1 atmosphere of pressure. It is equal to
76cm of Hg and it is equal to

eSTiel AN BT 1 IATNSAR D7 QI |
€3 N 76 @%WWWWW
gy

() 101.3 kPa (R ACE)
(i) 10.13 kPa (st #ficge)
(iii) 1.013 kPa (T 2MTE)
(iv) 1013 kPa (a1 #icFa)

Ocean surface cover ______ per cent of
the globe. i
MEAE ART __ xfeiet wRR el
) 50
i) 71
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i) e . (e) Wind direction is determined by
(iv) 80 A I ES Jeim el [efy w1 =71
(¢)  Dry air, by volume, is more than 99 per § ) : anemorneter (SETIGH)

cent composed of
SIRONS {2517, w3 Ay 99 *foreere @y (W) hygrometer (F2AfHR)

T i () wind vane (3% (o)
() Nitrogen and Oxygen (iv) thermometer (eHTBR)
' ‘(WE@WWW@W) (f) Fifty per cent of the 'total mass of
: atmospherc 1s confined in _ from
(i) Nitrogen and Hydrogen earth surface.
- (G Wi F3gee) | mmi{tw-wﬁwwwﬁsm
(iti) Oxygen and Carbon dioxide : i PEA N e
(SfRTew W% TR wizwmize) () 1.5 km (Reeifiom)
(iv) Hydrogen and Oxygen (i) 2 km (RefioR)
(Rwen s ofiew) (ii) 4 km (ReiEm)
(d) One example of greenhouse gas is ___ (iv) 5 km (W)
@‘ﬁ CoIRY 1 Ry 2 ".—f 4. Answer any threé questions 2x3=6
e _‘ firarzr fofior e St i ¢
2 00 | (@) What are the differences between
() He. - : : tornadoes and hurricanes ?
(iv) Os | (BICAS i BT ers sfiey & o
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(b)

(c)

(d)

(e)

(b)

How environmental issues are related
to climate ?

AR IR TEAYI FNC  (FET
ToAfFo ?

How is relative humidity calculated P
o gl (AT Rpel 1 = 2
What is Rayleigh scattering ?

@R Rvgae (2

What is hyetograph ?

‘ﬂ?@mﬂ%?

How are wind speed and direction
measured ?

0T & T W @@ e 3 292

. Answer any two questions : 5x2=10
Rz 71 e[ Tes fat ¢
(a) How variation of rainfall amount and

intensity depend on wind direction ?

ToIRT R @si® RFW AR S Stge!
FEE W93 FMA?

.What type of information are essential

to forecast flood and erosion ?

3 (Sem-3/CBCS) PHY SE/G 24

()

(cl)

(/)

QAT ST SRR S SfRee & e
AR SSLCG ?

What are the factors that affect wind
motion ? Briefly explain them.

Foiee <ifeT 9oEe Yo (AERI IR @
e (30N SN Il 40 |

“Modern weather forecasting did not
become possible untill weather
information could be collected,
assembled and processed rapidly.”
Explain it.

oy 9T ﬁaﬂw AT @ i
cfenitee [fen oy Mg SR W
GITHIF ﬁzmcimm&—m”iﬂﬁamn 3411

What are the most important :
parameters to forecast weather ? Briefly
discuss about them

%3] meﬁfi—t@ @@W@“ﬁﬁ
A B e G2 B o3l Sl |

Discuss about General Circulation
Model (GCM). '

Al gefire Wﬁ(GCM) T ﬁﬁm !
44 |
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4. Answer any three questions : 10x3=30

Rieeizen [oftr e Teq foyalt ¢

(@) What is precipitation ? Describe forms
of precipitation. Mention precipitation
characteristics. _
ST e Rifew e Sesrwem 3 |
ST (IR T w0

(b) Discuss about short and medium range
forecast of weather.

BT S TR Ao To59 oo B
o] 4T |

(c) Discuss solar radiation energy
distribution mechanism in atmosphere.

IS G it =i fwwel »1f wrirsmiony
4| : '

(d) Weather and climate are differeﬁt.
How ? What is climate change ?
T OIS SN QT | (AT 2 TNy ARS
e

fe) Give detailed explanation about

absorption, emission and scattering of
radiation in atmosphere.

TS [saeT A GBI e, Rl o
ez R Res gt a |
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(9)

(h)

Write a Short'essay on global warming
and its outcome.

(TR TRee 3 e Terre R i T5a
e ' e

What are different layers of
atmosphere? - Discuss the
characteristics of these layers.

Ay [ifen ei@R & e 43 w9oi@RT
% ST S
Cloud is the main source of rain. What

are different types of cloud ? Explain
one by one.

r{@{?{%&‘i{fﬂ o | e eoRe o9 &

[0 @51 9Bt 7=y 34 |
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OPTION -E
Paper : PHY-SE-3074
(Applied Optics})

Answer either in English or in Assamese.

 Answer any four of the following questions:

1x4=4

wm el A1 Shiedl 3 (R s1Es))

(i)
(it)
(iii)

(w)

(vi)

Write the full form of LASER.
LASER *[9((51F 37~9f¢f (o1 forail |
Define refractive index.
eifevRecag Fieee Wl |

Define critical angle.

AT e e R |

What is stimulated absorption ?
erelifrs G I (@CET 2
What is attenuation in ﬁbre optics ?

WWWW @T’@f‘?

Why is LASER used in reconstruction

process in hologram ?

Wm—ﬁwﬁaaﬁm—@mﬁw
& = =y
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(vii) What is metastable state ?

R« SRR REE
(viit) In which principle holography is based ?
oIS fefersel Mo 2
2. Answer any three of the following
questions : 2x3=6
Wi R S5 2w Tew o o

() Why is total internal reflection used as
a principle in optical fibre ?

W@@E@ﬁ@%ﬁﬁmaﬁw
fevics a3z =t = e

(i) What are step index and graded index
fibre ?

(B9 T[T WS (000 (T 9T T (@I ?

(i) Why is spontaneous emission not
suitable for LASER action ?

(eI TP AR Fo g Fshm 57 iy
CETR
(iv) A sodium atom radiates for 4x10-12 sec.

What is the coherence length of light
[rom a sodium lamp ?
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a1 vTa AW 4x10712 (GTREI AA
fafese Rofe w31 9Bl 5% BIfFT (o
PRSI == 2 |

(v) Write one advantage and one

disadvangtage of semiconductor LASER.

TEARRIR (FTERE Wb FRA O G5 SR
- Trmd 39

(vi} What is fibre Bragg grating ?
F2IR @ @t I Qe

Answer any two of the following questions :
5x2=10

o ez gl oss Tes 3l ¢

() What are various requirements for
holography ? ;
TTEARER A ARG AT N I @IS
& 2

(it} Write in detail about the disadvantages
of optical fibre.
WIETeE INTTT S[E @RT [Ew awie
GEIN

(iii) Define stimulated emission. Why is it
necessary for LASER action ?
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(oTGTI<S wa%'&mﬂ@ fafee sicesl ol |
e R AR 2 T TR e

(iv) Define population inversion. Discuss
various requirements for population
inversion.

(@aN e Gyt [RerfEe ke
Gl e A & 5% s = wel
(18 A WS w4 )

(v) Write a short note on He-Ne LASER.
el e Ra e w9

(vi) Calculate the refractive index of core
and cladding materials of an optical
fibre, if its N.A. is 0.22 and refractive:
index difference is 0.012.

Bl SiteTIeeRs AR REy4s AW 0.22 Wi
Y (Pl aiformeiias 2N 0.012 20s,
WEOE 9 WS (26T AR -
AT TR olelal <54 |

Answer any three of the following
(uestions : 10x3=30

Bigwien [fGr 2w Tag e ¢

() Write a descriptive note on holography.
What are the applications of holography
in modern world ? 310
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(%)

(iii)

()

(v)

2 Al 90 SR 9B MWW{%W |

Tl AT e e

What is coherence ? Discuss in detail |

about the two types of coherence.

2+4+4= 101
251 BIF @I 2 W;ﬁmﬁ\mﬁﬁmw .

WTB’HTWI

What are Einstein co—efficients in |
LASER ? Derive relations bctween them.

3+7=10

(TS RIS SBRIE welicaE@d s e @3

SO TGS FTH A 4|

Give a brief description about three level |
and four level scheme for LASER

production. 59+5=10

_m@mwcﬁ'ﬁﬁmm @@ﬂ‘\'ﬂfﬁﬁ?

oY 901 fran

Derive an expression for numerical
aperature of a fibre. Discuss various
usage of optical fibre sensor. 6+4=10

B! TIPSR ey 2 1 e
WIW%R@W%W'

ﬁhmavm@w$namn
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1 (Hem

(vi)

(i)

()

I/CBCS) PHY SE/G 33

What are various usage of optical fibre
in different fields ? With the help of a
block dlagram explain the working of a
fibre optic communication system.
4+6=10

ﬁfﬁaa@mﬁ(ﬁf—*@mﬁw$—@aaﬁmmf%f%?

ﬂﬁw\mﬁwﬁwwmm
foeT = =1 |

What are dszerent types of hologram i
Write a short note on ‘application of
holography in microscopy. 4+6=10

LN NN B 5 o P qme
AR ATt SIE @ 5 GiRel |

Write briefly on the principle and
construction of optical fibre. What is

cladding ? What is its purpose ?
2+3+2+3=10

SO IS S 9ows Ry bt forait |

@Y & ¢ 2ar Tgs =9 =)
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OPTION - F
Paper : PHY-SE-3094
 (PageMaker
Answer any four of the following questions:
- 1x4=4

(@) Which menu contains the ‘Rounded
Corner’ option ?

(b) How many columns are there in the
newspaper ?

(¢) What is the extension of file created in
PageMaker 7.0 ?

(d) What is ‘leading’ ?

(e) What is the first step of the page layout
for desktop publishing ?

(f)  Which menu contains the ‘Document
Setup’ option ?

(9) In which menu ‘nsert page’ option is

located ?

(h) What tool is used to move graphics in

PageMaker ?

Answer any three ofthe following quéstions ;

2x3=6

(a) How can you insert and remove pages ?
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1 (B

(b) Define ‘Laybut’ menu in P_ag_eMéker‘

(¢) What is master page ?

() Define alignmént in PageMaker.

(¢) What are ‘Fill’ ?

(/) Write the full foi;m of DTP.

Answer any two lof th_e following questions :
Sx2=10

() What is Text Wrap ? o

(b) Write a note on ‘Wmdow menu of
PageMaker. :

(6) Describe about features of the Tools’.

() How to apply colour to text ahd
praphics ?

(#/  Write a short note on master pages.

(/) Explain the use of ‘Document Setup’.

Aliswer any three of the fo_llowing questions :
10x3=30

() How do you create a Character and
Paragraph’? Explain various steps with
dingram,
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(b)

(c) Describe the step by step process of
opening a new file in PageMaker.
(d) Explain (i) adding text and lines,
- (ii) formatting Text, and (iii) saving and‘
printing a pubhcatlon
(e} Define ‘Type’ menu. What features are
there in it? Briefly explain all.
() Write short notes on Grids, Rulers and
Guides. Describe their importance.
(g) Write different steps involved in
. wrapping text around a graphic.
~ (h) Describe PageMaker in your own word.
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Write a descrlptlve note on ‘Arrange’ in
PageMaker




